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Answer-key & Solution

SSC JE (Environmental)
Date 15.07.2017

Note : If your opinion differ regarding any answer, please

message the mock test and Question number to 9560620353

Note : If you face any problem regarding result or marks

scored, please contact : 9313111777
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7.(A) Carbonate hardness = alkalinity

= 100 mg/l

Non carbonate hardness = total hardness
     – alkalinity

= 300 – 100

= 200 mg/l

56.(D) BOD = (DO
i
 – D

F
) × dilution factor

        = 
100

(10 2) 800 /
1

mg L  

58.(B)BOD = 
100

(8.5 5.5) 150 /
2

mg L  

62.(B) Dilution factor = 
Final vol.

Intial vol.

BOD = (8 – 2) 
300

2

 
  

       = 900 mg/l

SOLUTION


